


76.

A report by the Organisation for Economic Cooperation
and Development (OECD), a group comprising the
richest 30 countries in the world, states explicitly that
farm subsidies rose by 22 per cent in 2009, up from 21
per cent in 2008. In just 2009, industrialised countries
provided a subsidy of ¥ 1260 billion. And it is primarily
for this reason that farm incomes are lucrative. Take
the Netherlands: the average farm family income is
275 per cent of the average household income. This is
because of farm subsidies. not supermarkets. India is
therefore importing a failed model from the West
especially when India is incapable of providing such
heavy subsidies to its farmers.

Regarding employment, big retail does not squeeze out
middlemen from the food chain. Supermarkets claim
that they remove middlemen and therefore are able to
provide a higher price to farmers. In reality, what
happens is the opposite. Supermarkets are themselves
the big middlemen. They replace that small fish.
Supermarkets replace the plethora of small
middlemen. The muneem clad in a dhoti-kurta is
replaced by a smartly dressed up middleman. So, while
the farmer pauperises, the profit of supermarkets
multiply. -

Based on biased studies by consultancy firms and some
institutes, it is believed that supermarkets will create
employment and therefore help in ameliorating
poverty. This is a flawed assumption. Lessons need to

(5) Selling the produce to small shopkeepers and
hawkers saves the farmers of the expenses involved
in selling it to big retail stores which are mostly
based in big cities

177. Complete the following sentence by selecting the

alternative which is most appropriate in the context of

the passage.

Although it was assumed that retail chain giants

would squeeze out middlemen from the farming sector,

(1) the retail chain giants helped the farmers get
subsidies from the government

(2) India is still contemplating allowing foreign direct
investment in multi-brand retailing

(3) the retail chain giants themselves proved to be a
rambling version of the smaller middlemen

(4) the government was more concerned about the
welfare of the farmers

(8) None of the above

178. Which of the following is true in context of the

passage?

(1) Noticing the state of farmers in the West owing to
the advent of retail giants, Indian administrators
are not too keen to allow multi brand retailing in
India

(2) Supermarket chains have provided large
investments for the development of post-harvest
infrastructure

be drawn from a 2004 studydgne=at, Repnsilvaniah=e1 @) Theserdays farmmrs in the West earn several times

State University. The authors measured the impact of
a retail boom on poverty in various adjoining states.
The comprehensive study clearly brings out that
those American states that had more retail stores in
1987, had higher poverty rates by 1999 than the states
where fewer stores were set up.

At stake is the livelihood security of 120 lakh small
shopkeepers, 4 crore hawkers and at least 20 crore (of
the 60 crore) small farmers.What is needed is more
public sector investment in setting up a chain of
mandis across the country. Providing an assured
market and reasonable procurement price is what
Indian farmers need. This has to be supplemented by a
network of foodgrain banks at panchayat level that
assure local production and distribution.

Why does the author disagree with the idea that big

retail stores can salvage farmers’ condition in India?

(1) The farmers in India still prefer to sell their
produce to local middlemen and mandis than to the
big retail stores

(2) There have been examples throughout the world
that the big retail chains further deteriorate the
condition of the farmers

(3) Big retail chains buy the farmers’ produce at a
much lower cost as compared to the present
middlemen

(4) The government subsidies to the farmers selling
their produce directly to big retail stores is far
lesser than the ones who sell their produce to the
government itself

more than their earnings half a century ago

(4) India is providing heavy subsidies to cover up the
losses made by the farmers because of retail chain
giants

(5) None of the above

179. The fact that the West provides enormous subsidies to

its farmers proves that

(1) the government in the West lures the farmers into
selling their produce to retail chain giants in return
of such subsidies

(2) many farmers who had given up farming as a
profession are now returning to it

(3) supermarkets have indeed helped in making
farming a lucrative business

(4) the retail chains are arm twisting, the government
to provide subsidies to the farmers who sell their
produce to them

(5) the retail chains have failed to benefit the farmers
thus forcing the government to come to their rescue

180. Which of the following have been the arguments for

setting up big retail stores in India?

A. The retail chains would sell the farmers’ produce at
a comparatively higher price than the smaller
shops so as to improve the farmers’ profit. ;

B. The retail chains would drive the middlemen out of
the system, thus improving farmers’ profit margin.

C. Big retail chains in the West have been taking
strides of growth and have been benefiting the
farmers.



181.

182.

183.

184.

D. The big retail chains would provide an organized
market which would bring about growth in the
rural areas.

(1) A and C

(3)A.Cand D

(5) AllA, B,Cand D

The author of the given passage definitely

(1) is indicating that the West has completely failed to
make agriculture a lucrative sector

(2) is against the argument that retail chain giants can
help come to the rescue of farmers in India

(3) is not in favour of removing the local middlemen as
they provide a higher price to the farmers

(4) is suggesting that the Indian Government must
increase farm subsidies emulating some of the
western countries

(5) is comparing the successful performance of retail
chains in India as opposed to those in the West

(2) Cand D
(4) Band D

Which of the following would be the most appropriate

title for the given passage?

(1) Multi brand retailing—Making farming more
lucrative

(2) Supermarkets—Towards employment and growth
in rural areas

(3) Supermarket—A super risk for farmers

(4) Allowing—Supermarkets in  India-Why
administrators unwilling?

are

185.

186.

187.

188.

189.

190.

Exodus

(1) Loss (2) Exit

(3) Apathy (4) Deprivation

(5) Unemployment

Brings Out

(1) Exits (2) Encourages

(3) Dismisses (4) Criticises

(5) Reveals

Drive

(1) Transfer (2) Move (3) Compel  (4) Force
(5) Stimulate .
Directions (Q. Nos. 188 to 190) Choose the

word/phrase which is most opposite in meaning to
the word printed in bold as used in the passage.

Multiply

(1) Reduce (2) Divide (3) Step-down (4) Converge
(5) Add

Failed

(1) Passed (2) Prominent

(3) Successful (4) Privileged

(5) Fortunate

Pauperises

(1) Wins (2) Struggles

(3) Prevails (4) Advances

(5) Prospers

(5) Supermarkets—Makidg W ¥he=daimert 1 achC =1 ver Dinectiohs (QaNos. 191 to 200) Read each sentence

subsidies

What, according to the author, are the reasons behind

the fact that farmers income in some countries in the

West is several times an average household?

(1) Farming in these countries is lucrative as farmers
are provided with a good return for their produce

(2) Big retail chains have benefited the farmers
enormously

(3) Retail chains have completely wiped out the
middlemen in these countries and have thus,
increased the farmers’ profit

(4) Huge subsidies are being provided by
government to these farmers

(5) None of the above

Which of the following suggestion/s has/have been

made by the author to address the present problems of

Indian farmers?

A. Increasing the procurement price of their crops to a
certain rational limit,

B. Opening more retail chains so as to provide them
an assured market for their yield.

C. Assuring the production and distribution of food
grains at local level as well.

the

(1) Aand C (2) Band C

(3)Aand B (4) Only C

(5) Only B

Directions (Q. Nos. 185 to 187) Choose the

word/group of words which is most similar in
meaning to the word printed in bold as used in the
passage.

191.

192.

193.

194,

195.

196.

197.

to find out whether there is any grammatical error in
it. The error if any will be in one part of the sentence,
the number of that part will be the answer. If there is
no error, mark (5) as the answer. (Ignore errors of
punctuation if any).

The right to adequate food (1)/ and clean drinking
water (2)/ should be regarded as a (3)/ basic right of all
citizens of India. (4)/ No error (5)

A sharp fall in (1)/ international prices of tea (2)/ have
lead Tea plantation workers (3)/ in Kerala to face
starvation. (4)/ No error (5)

In spite freedom of the press is vital to democracy (1)/
the thin line between reporting facts (2)/ and
expressing opinions on them (3)/ is being increasingly
crossed. (4)/ No error (5)

In India, the teacher has been elevated (1)/ to a
position of power (2)/ and a part of that power has been
(3)/ to assuming the right to punish the students. (4)/
No error (5)

In the flying game, there are a host of (1)/ new
low-cost airlines that dare to roar, (2)/ providing a
glimmer of hope of (3)/ more cheapper air transport to
millions. (4)/ No error (5)

A question worth to ask is that (1) whether the
National Awards represent (2)/ Pan-Indian cinema or
(3)/ is the focus on mainstream films only. (4)/ No
error (5)

Indian every single (1)/ expectation from its cricket
team (2)/ invariably oscillates between (3)/ a cynical
pessimism and an unjustified optimism. (4)/ No error (5)



198.

199.

200.

201.

202.

203.

204.

The road widening exercise (1)/ who aims to make
National Highway a four-lane highway, (2)/ poses a
threat to the (3)/ fragile environment of the
Himalayas. (4)/ No error (5)

In the aftermath of the Asian Tsunami, (1)/ the
sporting community have responded (2)/ swiftly to
contribute in whatever way it could, (3)/ both
financially and qualitatively. (4)/ No error (5)

Seen as an indicator of the maturity (1)/ of outsourcing
business in India, (2)/ the Indian outsourcing market is
(3)/ expected to growth to eleven billion dollar by this
year. (4)/ No error (5)

Directions (Q. Nos. 201 to 205) Which of the phrases
(1), (2), (3) and (4) given below each statement should
replace the phrase printed in bold in the sentence to
make it grammatically correct? If the sentence is
correct as it is given and no correction is required,
mark (5) as the answer.

MBA is the acme of a student’s dreams, but as a
post-graduate qualification it has been so distorted in
its execution so as to lose nearly all the original
intent.

(1) that it has lost nearly
(2) to lose almost

(3) so as to lost nearly

(4) and has lost nearly

(5) No correction required

British conservationists, which were in Mumbai on
March, have appealed to their Indian counterparts to
make a case for preserving the city’s deselict cotton
mills.

(1) which were at Mumbai on

(2) who was in Mumbai at

(3) which were on Mumbai on

(4) who were in Mumbai in

(5) No correction required

This drought, in the fifth consecutive years, must
be used as an opportunity to affect changes in
practices for the management of our water resources
where every community and household is involved.

(1) on the five consecutive years

(2) in the fifth consecutive year

(3) for the fifth consecutive year

(4) in five consecutive years

(5) No correction required

Medical tourism will not make any difference to
Indian healthcare despite it will mean more great
profits for private hospitals but will not create sub-
sidised treatment for Indians.

(1) however it will result greater

(2) because it will mean more great

(3) as it will mean greater

(4) also it will mean more great

(5) No correction required

205.

wwy . educat iDnDhservEéJ;lsé:&q

206.
207.
208.
PAILR

210.

With western fast food and brand name sodas gaining
foothold, India is incubating a new public health crisis
by being forced to choose between eradicating
hunger and treating those who are overweight.

(1) forced to treat between

(2) forcibly choosing between

(8) forced to choose for

(4) forcing to treat between

(5) No correction required

Directions (Q. Nos. 206 to 210) Rearrange the

following sentences A, B, C, D, E and F to make a

meaningful paragraph and then answer the questions

which follow.

A. Increased competition, globalization and the need
for enormous resources have nudged priorities
which once held the fort.

B. In order to achieve these, hype and sensationalism
is put in to spice up the news which have robbed
news stories of credibility.

C. This is only possible if a lot more thought is put
into the gathering and presentation of the daily
news and delivering it much more sensitively to its
receivers/users.

D. Technological innovation and economic change
have transformed the news industry to the extent
where its original definition as a public service no
longer holds good.

In order to win it back, the media should make full
I{gfﬂ?é;}éﬁ'dous power that the democracy
blesses it with.

F. These included public good and social
responsibility. But sadly, today. these have made
way for a business target of commercial viability
and a chase of viewership.

Which of the following sentence should be the SIXTH

(LAST) after rearrangement?

WA (2B (3)C

B)F

Which of the following sentence should be the THIRD

after rearrangement?

(4)D

(1) A (2 E 3)D 4 F

(5) C

Which of the following sentence should be the FIFTH
after rearrangement?

(1) A (2) B 3 E 4C

(5) F

Which of the following sentence should be the FIRST
after rearrangement?
(1) A (2B
(5) E

Which of the following sentence should be the
SECOND after rearrangement?

(3)C 4D

WA (2)B
@)D 4 E
®) F



211.

212.

213.

214.

215.

216.

217.

Directions (Q. Nos. 211 to 220) In the following
passage there are blanks, each of which has been
numbered. These numbers are printed below the
passage and against each, five words/phrases are
suggested, one of which fits the blank appropriately.
Find out the appropriate word/phrase in each case.
One big (211) between the investments in fossil fuels
and those in wind power, solar cells, and geothermal
energy is that the latter will supply energy in (212).
These ‘wells’ will never run dry. If the money spent on
oil in one year were (213) in wind turbines, the
electricity generated would be enough to (214)
one-fifth of the world's needs.

Investments in infrastructure for the new energy
economy, which would eventually have to be made
when fossil fuels reserves (215), will obviously be
huge. These include the transmission lines that (216)
wind farms with electricity consumers, and the
pipelines that link hydrogen supply sources with
end-users. To a substantial degree, the infrastructure
for the (217), energy sources - the transmission lines
for electricity from coal and the pipelines for natural
gas can be used in the new energy economy as well.
The local pipeline distribution network in various

219.

220.

221.

222,

(1) predict (2) promise
(3) pursue (4) expects
(5) created

(1) Despite (2) As

(3) Owing to (4) Unless
(5) Although

Directions (Q. Nos. 221 to 225) Each question below
has two blanks, each blank indicating that something
has been omitted. Choose the set of words/phrases for
each blank that best fits the meaning of the sentence as
a whole.

... 18 China the world's most populous country,
with nearly 1.3 billion people, it is also the world’s
fastest-growing economy, ......... more than fourfold
every year.

(1) Not only; expanding

(2) Merely: developing

(3) Hardly; growing

(4) Surprisingly; flourishing
(5) An example; evolving

Bengaluru has ......... beyond recognition into an
IT-propelled metropolis from a laidback city that it

cities for natural gas can easilyyhe (Bd8itnabdroponb=crver  comnforum

distribution system. For developing countries, the new
energy sources (219) to reduce dependence on
imported oil, freeing up capital for investment in
domestic energy sources. (220) very few countries have
their own oil fields, most have wind and solar energy.
In terms of economic expansion and job generation,
these new energy technologies are a godsend.

(2) change
(4) issue

(1) argument
(3) exception
(5) difference

(1) infinity (2) perpetuity
(3) extension (4) reality
(5) renewability
(1) dissipated (2) applied
(3) drawn (4) invested
() given
(1) involve (2) meet
(3) attract (4) complete
(5) cater
(1) deplete (2) expand
(3) terminate (4) sustain
(5) cease
(1) provide (2) include
(3) connect (4) support
(5) links
(1) existing (2) new

. (3) latest (4) old

(5) renewable

. (1) supphed

(3) provided
(5) used

(2) dispersed
(4) converted

223.

224.

225.

(1) changed; was

(2) developed; should be

(3) constructed:; used to be

(4) progressed; claims to be

(5) morphed:; once was

While the agricultural revolution ......... the earth’s
surface, the industrial revolution is changing the
earth’s ......... 4

(1) changed: as well

(2) suffered; air

(3) benefitted; condition

(4) transformed; atmosphere

(5) predicted; circumstances

The findings of a recent study to ......... the factors
which influence successful primary school completion
......... that extreme poverty is responsible for ninety
per cent of the school dropout cases.

(1) study; proves

(2) establish; examine

(3) construct; show

(4) explore; reveal

(5) reveal; object to

......... the concept of environmentally sustainable
development .......... a quarter-century ago, there is
not a single country today which has a strategy to
build an eco-economy.

(1) Eventhough; built

(2) Although; evolved

(3) Besides; took shape

(4) After; still

(5) Though; created
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